VR 2 5 AR T BT R /KIE SRR =T R

PRk 2 5 HR T O T KB FERSFTEIZ, RICEDD L ZAHITL D,

F15 mARETEOREIL. BSAREENEN4, 527, 519THEED D,

2 WA TROFKEORX R OEEXS DL 0T, F1R RARHTE] 1TX5,

(EBARITR)
FH2gk HMGTABERUROBREICLVEBZAET LT/ 2T 52 LTS 28H, HIH
FOMRERIL, 2R EHBEABITH] I2XD,

(M1 71&)
34 HFBEBEELLE1IHOBEICIVEZTZENTE M EOERMBED HM.

PREEZH, EMEDHIE, FIEEKMEROFIEZ, 3R HAE] 1TX5,

(— I A4R)
FHa4S WHTAREFELROIHE2HOMPTIZ LD —FEAEDOME AN O K I,

300, 000 TH & ED 5,

VR 2 55031 H

wRorhE L I 3 —



i

F1R RARHTRE

A (A T-F) O (B iz )
K H & #H K H & #
1 4 & kK A # & 300 1 F K $C # 2,705, 107
1 FKiE = & & AH#H & 300 1 v Kk @& B B & 1, 300, 453
2 fE O OB kY F Ok 2,042, 145 2 F Ak E OB OB % 1, 404, 654
1 fi ! B 2,041, 985 2 A f& # 1,818,412
2 F 5 B 160 /N f& 7 1,818,412
3 X W & 494, 500 3 7 i # 4, 000
1 oM B & 494, 500 17 i 7 4, 000
4 # X% H & 24, 720 W oM & 3 4,527,519
1 #B il 1)) & 24, 720
5 & BT & 1
1 7 1) & 1
6 A & 1, 152, 000
1 — &k = i & A & 1, 152, 000
(- i & 1
1 el & 1
8 I A 52
1 FE W 0 B oA kO B 1
2 T 74 & F 50
3 M 1
9 T & 813, 800
1T & 813, 800
w AN A& F 4,527,519




(HAL : FH)
=2 IH B M R E #
B X P Moy | weew 121,810
F3FR MHE
(HLAL : FH)
L D B FREEZE | EIED S E R EIED T
5. 0%LMA HRE 1 4 5 22 304F L
SEEE A (Zif: b%%ljfﬁﬁ%ﬁﬂ NIz Eiﬁﬁ‘éoﬁ
AR ’ éﬁ%g RIE L ZTo 12 RICE VT 12 kv iR L oge

(T, HEERE L% OF=)

HAIBR 2 s Lo L < Ik
R SO ARAME |
ATHIEWTED,




